

(1)

$$f_2(x) = \frac{a \frac{ax}{x+1}}{\frac{ax}{x+1} + 1} = \frac{a^2 x}{(a+1)x+1} \quad f_3(x) = \frac{a \frac{a^2 x}{(a+1)x+1}}{\frac{a^2 x}{(a+1)x+1} + 1} = \frac{a^3 x}{(a^2 + a + 1)x + 1}$$

$f_n(x) = \frac{a^n x}{(a^{n-1} + \dots + a + 1)x + 1}$  と予想できる。  $n=1, 2, 3$  のとき成立。

$n=k$  のとき  $f_k(x) = \frac{a^k x}{(a^{k-1} + \dots + a + 1)x + 1}$  とすると

$$f_{k+1}(x) = \frac{a \frac{a^k x}{(a^{k-1} + \dots + a + 1)x + 1}}{\frac{a^k x}{(a^{k-1} + \dots + a + 1)x + 1} + 1} = \frac{a^{k+1} x}{(a^k + \dots + a + 1)x + 1}$$

したがって、  $n=k+1$  でも成立。

ここで、  $0 < a < 1$  のとき  $a^{n-1} + \dots + a + 1 = \frac{1-a^n}{1-a}$ 、  $a=1$  のとき  $a^{n-1} + \dots + a + 1 = n$  であるから

$$0 < a < 1 \text{ のとき } f_n(x) = \frac{a^n(1-a)x}{(1-a^n)x+1-a}、 a=1 \text{ のとき } f_n(x) = \frac{x}{nx+1} \quad \dots\dots(\text{答})$$

(2)

例えば、  $0 < a < 1$  のとき  $b_n = \frac{1}{a^n}$ 、  $a=1$  のとき  $b_n = n$  とすると

$$0 < a < 1 \text{ のとき } b_n \cdot f_n(c) = \frac{(1-a)c}{(1-a^n)c+1-a} \quad \therefore \lim_{n \rightarrow \infty} b_n \cdot f_n(c) = \frac{(1-a)c}{c+1-a} > 0$$

$$a=1 \text{ のとき } b_n \cdot f_n(c) = \frac{nc}{nc+1} = \frac{1}{1+\frac{1}{nc}} \quad \therefore \lim_{n \rightarrow \infty} b_n \cdot f_n(c) = 1$$

確かに正の数に収束するので  $0 < a < 1$  のとき  $b_n = \frac{1}{a^n}$ 、  $a=1$  のとき  $b_n = n$   $\dots\dots(\text{答})$